Simg=)=bi=k

\72/

(11875]
SHERER
818X06 = 490A Tt
MOEBNE+REREEED D TE0% THHE

SHLEER 55 O

XIBEE 4 1 ABTA+IEZR4N)

F= B85 AEX 1 0HE00BEHY (SBR[ XBHIZODEH

[ 1QH1ZD 3BEDHZE

, 333 X 2000 = 666,000 EEE3TS
1. #E2,0008 | B3O 792000 M
) EFEE 36 X 3,500 126,000 WERIBEE A4S
3,500M®D 444 X 2,000 888,000 EEESTE
155 B4 1,056,000 M
48 X 3,500 168,000 BEKIEEE4R
, 333 X 1,600 = 532,800 EEE3TS
2. #%1,6008 | B3O 633600 H
) EFEE 36 X 2,800 100,800 RERIBEE A
2,800MDBES 444 X 1600 = 710,400 P
(X0.8f2) B4 844,800 M
48 X 2,800 134,400 WEHISEEALE
315 X 1,600 504,000 EREEE358
18 X 2,000 36,000 RIOEEES
H3(O 619200 H
18 X 2,800 50,400 WEEE2E
18 X 1,600 28,800 WELBRISEE 2L
3. EERIDHBE
= 420 X 1,600 672,000 EREEE358
24 X 2,000 48,000 RIOEEES
H4(o 825600 H
24 X 2,800 67,200 WEEE2E
24 X 1,600 = 38,400 WELKBRISEE 2L
= 1595 AMXBSE 00O
@’5@&(?650%% o A3m| 123 x 1000 = 123,000 123000 M |EsE41s
5 B4@0| 164 x 1,000 164,000 164,000 M |mss41%2
e EE) A3O| 123 x 300 36,900 36900 [ |EwsEa1s
BERIOBES | 540 | 164  x 300 = 49,200 40200 M |mssaiz
= SRR
- A 490 X 300 = 147,000 147,000 M
A ERIEEN SREBIBNR 1+ | 2+@ | 3+D | 1+@ | 2+@ | 3+@
caney | B30 | semsaunern | 2167 | 1844 | 1815 | 1992 | 1668 | 1639
ES >
(490N ]
B 4@ | sewaseumemn | 2790 | 2359 | 2320 | 2556 | 2,124 | 2085
oumey | B 30 | marmseumens [ 2408 | 2049 | 2016 | 2213 | 1.854 | 1821
(4410 ]
B 4@ | wereseumemn | 3100 | 2621 | 2484 | 2812 | 2361 | 2317
samey | B 30 | e seumens [ 2700 | 2305 | 2268 | 2490 | 2085 | 2049
(83920 ]
B A0 | wereseumemn | 3487 | 2948 | 2899 | 3194 | 2656 | 2607
E—— B 30 | wewmsermemr | 3096 | 2634 | 2592 | 2845 | 2383 | 2,341
(843N )
B 4@ | wewaseumemn | 3985 | 3370 | 3314 | 3651 | 3035 | 2979
- B30 | wewmsermeme | 3612 | 3073 | 3024 | 3319 | 2781 | 2732
(294X )
B 4@ | weraseumemn | 4650 | 3931 | 3866 | 4259 | 3541 | 3476




